Unit 7 – Customer Service Costs & Efficiency
Deciding level of basic service = trade-off:  cost vs. benefits ( lost sales) of rendering superior service
Customer service cost = all costs of various activities needed to ensure availability of right product at the right place, at the right time & in the right quantities.
Management problem = accurately identify total costs (hidden/shared) of logistics function = inappropriate decisions
The Service Level/Cost Relationship SU 7 pg. 67-68; par. 7.2
[image: ]Minimising total logistics cost: trade customer service against cost of customer accommodation.
 Level of Service (measured in availability of inventory) =  cost. 
Service level beyond 80% =  cost more than proportionally Fig. 7.1 typical exponential
Slight service  = slight /effect on customer but resulting in vast amount of safety stock & high logistical cost
Significant cost implications for firm who generally:
· Are unaware of operating service levels / no define service policy
· Determine service levels arbitrarily (2% diff can have costly effect)
Logistic services & strategies absorb cost, otherwise borne by customer 
(e.g. freq. deliveries =  in customer's stock)
Customer Service Costs SU 7 pg. 68-69; par. 7.3
Include costs involved in all logistics activities (see SU 2 & 3 and "customer service cost" above)
Total Distribution Cost [TDC]: incurred more costs through provision of availability than just transport & warehouse
e.g. service level affect inventory amt.; distribution (incl. handling/packaging/admin) affect order processing costs; 

The Cost of Lost Sales SU 7 pg. 70-71; par. 7.4
"Penalty for not having right product available at the required time." Penalties/costs resulting from stock outs:
1) Cost of Back-Order: extra costs of processing & expediting order  which cannot be met from current stock
2) Cost of Lost Sale: Customer makes particular purchase elsewhere. Measured by profits lost.= opportunity costs / cost of forgone sales

3) Cost of Lost Customer: Customer permanently seeks alternative supply source
Quantifying cost of non-availability: 
 Calculate/estimate above costs from stock-outs 
 Determine likelihood/probability (based on previous experience) of these costs occurring in event of a stock-out
 Expected cost = :cost x :probability


[image: ]Trade-Off between Costs & Benefits of Customer Service SU 7 pg. 71-72; par. 7.5Fig. = conceptual optimum level

 Firm's overall service offering ≠  profitability due to particular behaviour of logistics costs & non-linear reaction of customer demand to logistics services
Optimum Level of Service (L) reached long before max realisable service level Fig. 7.2
Trade-off when considering total logistics costs = opportunity costs of lost sales vs. cost of offering service.
Management task = a cost-benefit appraisal of alternative logistics strategies
Practical Problems when determining optimum point:
· Generating accurate cost data relating to service policies
· Determining market's response to different levels of service offering
Logistical approach = find cost/benefit balance that satisfies stated objectives instead of devising optimal policies:
1) Cost minimisation: set specific customer service objectives then ask "how to achieve at minimum cost?"
Where market situation = highly competitive customer service 	or alternative approach
2) Service maximisation: maximising service offering within fixed budget constraints
Where market situation = limited corporate resources
Strategies on how much to spend on customer service, should be integrated in total context of the business.
Above trade-offs mostly apply when deciding on level of basic service. Differs to zero defect & value-added
Customer Service Efficiency SU 7 pg. 72-77; par. 7.6
How to identify the customers for whom it is worth providing zero defect services: 
ABC Analysis: SU 7 pg.73-74; par 7.6.1
Certain customers/products are more profitable, justifying higher expenditure on customer service
Measure profitability on a contribution basis – use customer-product contribution matrix to classify customers & products according to their impact on manufacturer's profit performance:
	Interpretation of customer-product Matrix:
	Customer Classification
	Product

	A: most profitable products (small % of total product line)
	
	A
	B
	C
	D

	D: least profitable products (± 80% of total product line)
	I
	1
	2
	6
	10

	I: most profitable for manufacturer (max 5 – 10 customers)
	II
	3
	4
	7
	12

	V: least profitable, buys small quantities (majority of cust.)
	III
	5
	8
	13
	16

	Highest profit customer-product combo = IA Priority #1. Next best = IB then IIA etc. Least profitable combo = VD Priority #20
	IV
	9
	14
	15
	19

	
	V
	11
	17
	18
	20


See Table 7.4: Making the customer-product contribution matrix operational for implementation & allocation SG pg. 74 
Method acknowledges need to provide most profitable customers with service levels that encourage repeat business
Requires knowledge of customer base & their behaviour.
 Profitability of less profitable customers by  cost of servicing them. E.g. time limit on when to place orders = consolidating orders for shipment to specific geographic area =  Profitability & benefits customer ( variability).
Customer Account Profitability [CAP]: SU 7 pg.74-77; par 7.6.2
CAP = identifying profitable customers using a costing analysis.
Awareness of cost differentials between & within customer types (e.g. delivery arrangements, size, after-sales supp.)
Customer profitability analysis helps organisation evaluate impact of its prices/terms of trade offered to various individuals/customer groups on their relative profitability to supplier.
Develops a basis for taking decisions on prices & services levels/ mix of service offered to each customer / group.
Principles underlying CAP concept:
· Individual customer order = ultimate profit centre
· Profitability in existing product/market structure = effective managing of costs incurred after manufacturing
· Costs incurred after manufacture relates to individual & events associated with servicing that customer
· How customer-oriented costs vary specifically by customer/ order size/ type & other key activity measures
Cost elements have both fixed & variable components. See figure 7.3: CAP Model Study guide page 75
Profit per transaction influenced by discounts, returned goods & other revenue factors which produce gross margin.
Customer profitability analysis requires cost accounting that attributes all costs forward to revenue source
Components of a CAP analysis are basically gross & net sales revenue for each customer/group & contribution by individual customer/group at two levels, net sales revenue less total manufacturing costs of goods sold, and the above contribution level less costs of servicing the customer group. 
Attributing costs: there is a primary recognition that costs are:
· Product-related in manufacturing (incl. fixed/indirect overheads or variable/direct value-added);
· Individual customer-related in selling & distribution – based on activities servicing those customers
not a function of sales & not to be attributed according to sales volume.
· And “below-the-line” overheads (incl. admin & finance costs) not included in the CAP analysis.
Attribution of the costs should be based on classification of typically physically identifiable activities:
· Storage = distribution activity. Charge basis could be warehouse space in square/cubic metres based on customer/group sales throughput & stockholding needs. 
· Despatch/delivery activity: basis might be a charge per sales order completed. 
· Order processing: charge could be based on sales order. 
· Sales processing: charge basis could be on the sales call rate. 
· Promotion: charge basis could be on sales “potential” or each customer/group being serviced. 
CAP enables measurement of financial performance & therefore acted upon at the source in a way which traditional accounting & information systems fail to do. 
Actions which lead to improvement in performance, but may only be indicated by a CAP analysis: 
· enrich the product mix , which increases margins 
· increase sales volume per customer, usually increases order size 
· reduce delivery frequency, in turn increases order & drop size 
· apply “minimum order” policy or charge a premium on small orders 
· avoid “balancing” follow-up deliveries because this adds cost 
· lengthen order-cycle time 
· intensify business done in each delivery area, increases the drop size 
· encourage use of intermediaries, where appropriate, particularly for handling small orders 
· reduce level of service at drop point = increases speed of turnaround & therefore reduces turnaround time 
· seek cost-effective methods of obtaining orders (e.g. telephone method better “order getters” vs. field reps)
[bookmark: _GoBack]Despite both conceptual and practical difficulties, companies which attempt to understand and introduce the mechanisms of CAP are likely to be amply rewarded at the “bottom line”, even with only limited application of the principles.
Self-Evaluation Questions SU 7 pg. 77; par 7.8 - References
TDC


TC
Transport Cost


FC
Facility Cost


MC
Management Cost


CC
CommsCosts


IC
Inventory Cost


HC
Material Handling Cost


PC
Packa-ging Cost
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